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(English Versio™

Note:

(i) First 15 minutes are allotted for the candidates " ead the question paper-

(i) The question paper is divided into two parts —Part A and Part B.
(iii) Part A and Part B are divided into three sub-sections 1, 2 and 3.

(iv) In Part A of the question paper, there are Multiple {Choica Type Questions. Select the
correct alternative and then by a blue or black ball point pen, fill completely in the circle
in OMR Answer-Sheet. Do not ergse, 'CWt ©OF use whitener on the OMR

Answer.Sheet after answering.
(v) I mark is allotted to each question in the myltiple choice type questions of Part A.
(Ul) Part B has descriptiue questions.

(vii) The allotted marks are given in each quegsion

(viii) All the questions of Sub-Sections ,
of Part .
Sub-Section from a new page. f B are to be attempted all at a time. Start each

(ix) All questions are compulsory.

Part A
Sub-Section 1 .

Multiple Choice Type Questions :

1.  The image formed by a convex mirror isalways :

(A) between the centre of curvature and the focus
(B) between the tentre of curvature and infinity

n the pole and the focus

(C) betwee
ending upon the psition of the object

(D) anywhere, dep

2 When light rays move away from the pormal while going from one medium to
1

anothér, then they move from

medium to a rarer mediu®?

mediu?®

4 {0 8 Tedium of high refractive index

(A) adenser

(B) a rarer medium to a denser
(C) a medium of low refractive inde

: medium
(D) a transparent medium to an opedte

P.T.O.
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5 i# 16 em, The image of an phject. p]ﬂced 80 em

1 of n convex lon
I bo: me ";B ga thB Object at 30 em towards the objet:t
hof o, jso 8 the object at 30 cm on the other gide of

31 "y
IhU ﬂ“:n[ il‘nHL

il
Away from 100" ¥

to
(A Real, IV )
() Real, invorted, of the sam

jge 88 the object on the other side of object at

ohject p
() Renl, inverted, of tho sam®
15 om .89 the object at 15 em ¢ ds the object
me pit? Ject a cm towar
(D) Viptual, eroct, of the 88 _
4 Wi light passes through ? Prism, the colour of the emergqnt light
1 10N whiw 1 o 1
dist tho base of prism i8 | :
(A: “n;zﬁom o (B)  Yellow
(&) B;} ’ D) Violet
ue
' 1
8.  Ampere-socond is the unit of !
(A)  Electrical energy (B) Electromotive Force (e.m.f)
(D) Electric current

(C)  Charge
and R are connected to a cell in parallel. If the

8. Two wires of resistances R;
vand the heats produced,in them are H;

currents flowing in them are iy and 1§
and Hj, respectively per second, the ratio of heat is : https://www.upboardonline.com 1

H R
21 -2
@ e
H R
=1 =2
® Hy Ry
.9
H 1
—1 -
(C) H, 2
1
o .k
H, 1'1 |

7. Unit of intensity of magnetic field is :
. (A) Newton/Ampere. metre?
(B)  Newton/Ampere-metre
© N ewton-Ampere. metre
(D) NewtonzfAmpere-metre

824 (14
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Sub-Section 2

n ;
(A) H-C-C-H ® H-C-H
I I]{ H

8. The structurfﬂ formula of methane is : .
H
-C

H
H H
(C) [ H-C=(C-H
H-C=C-H (D)

The homologous series in the following is :

&) CyH,, CHy

(B) CH,, C,H,

(C) CoHg, CH30H
(D) CyH,, CoHy
10. Chemica] formula of Lead Nitrate is .
(A)  Pb(NOg)y- (B) PbO
(C) .Pb(NOg)y (D) PbNO,

11. The pH value of pure water is :
@ o0 ®) 1
© 7 - (D) 14
12. Antimonyis: | .
(A) Metal (B) Non-metal
(C) Metalloid (D) Alloy
13. Complete the following chemical equation : . ;
CH4COOH + CoH;z0H 'ﬁ%‘;gi" ———+H0
(A) CHgOH
(B) CoHsOH
(C) CH4CO00CoHs5

(D) CH3CH,COOH -

824 (1) J
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s“lyﬂ”"”!m 3

in-
cy in cellular F"”‘“'d‘

14. Energy curren %) Aty
(A) M,-wchundrin (1), Fyruvate
(C)  Qlucose
16.  Bile juice js secreted by ° /
HJ Ijng'

(A)  Gall bladder {
- Dy Mt ety

(C)  Pancreas

18. Pollen gac contains :

(A)  Sepals
(C)  Ovules

Pollen graing

17. Buds on Jeaf develop in:
( ,
(A) Mint B) Potate

(C) Bryophyllum (D) All of the above

T

18. Example of unisexual flower is :
(A) Flower of Papaya (B) Flower of Rose
(C)  Flower of Mustard D) Flower of Mango

19. Normal blood pressure of a healthy human is

(A) 140/80 (B) 120/80 (C) 135/100 (D) 125/115

20. Which of the following constitutes z food chain ?
(A)  Grass, Wheat and Mango
(B) Grass, Goat and Human
(C)  Goat, Cow ang Elephant -
(D)  Grass, Figh and Goat
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25.

26.

g Pary B
tive questions . ub"sectmn 1

The ;mage formed of an

1 Object
the length of the object, Detery, 8t a distance of 25 ¢m from a convex mirror is half
i) the focal length of th,¢ ity ™ine (i) the distance of image from the mirror, and

4
@  On placing a concaye lens
axis in the back, 29 om 0 the path of convergent rays, they focus on the
TOm the Jeqg, '
(i) In the absence of g lens, wh,
is 30 cm. ere do the rays focus ? The focal length of lens
4
How can the three resi ‘
ist £ Sistances 2 Q, 3 0 and 6 Q be connected, so that (i) total
s ] 1 ) X3
resistance of 4 Q is obtained, and (ii) totg] resistance of 1 Q is obtained ? 4
Write (i) the name, (ii) working, and (iii) colours of the insulation of the wires
used in the domestic electrical distribution. 6
OR~ | |
On which factors does the magnetic field due to a current carrying conductor
depend ? Write and explain the name of the law used to find the direction of the 6
magnetic field. .
Sub-Seetion 2
| ulae of the following compounds : 1+1+1+1=4
m
Write the structo®! for
¢ Ethanoic3
G) Methan?
ane
i) 1-ChloroP™
e * »
(IV) Nitrometh dwrite its two applications.
trﬂch Ir1'1‘3a'l sert 1o the names and uses of two main alloys
1 n elec ?wﬂte 942=4
@ Exp? pean by alloye’
ou
Gy what9° y 10,
of copPe’

11
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27, (p Wwr

HCHO
(a)

4, - CH = CHy
b of carbon,

.,  short note on valent

" te |
(i) Wl nmeaﬂdmmarfwmmoﬂ ]-ngrder.whz

.. the chemical . .

i) Writ® : is Deated ? - 2-2-3-4
(iii) X perls“'hen baking powdef

ap

OR , )
rite short potes on the following : 2-2:9-5
ri

) Double gisplacement reaction

(ii) Neutralization reaction

(iii) Addition reaction

| Sub-Section 3

28 D |
99, What do you mean by sex Mm?oma ? Explain the prot&s;: of sex

determination in humans. . 9194

raw a labelled diagram of structure of Neuron and deseribe its funcgions. 2.3y

30. Write-dewn four differences between producers and consumers. 1+1+1+]1=4

3L Describe the structure of human heart with the help of labelled longirudins!
section diagram of the human heart.
OR-

gt

Describe the female reprodyetive system of huﬁ:an beings with diagram. J+3=f
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